Hysteretic Damping (1.0)   河工系 一年B班 B92520121 高聖凱             6

1. Given 
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x(t)=t , y(t)=-0.44721t

x(t)=-5sin(1.4832t) , y(t)=-7.4162cos(1.4832t)
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x(t)=-8.916(e^(-0.4472t)-e^(0.4472t)) , y(t)=-3.7081(e^(0.4472t)+e^(-0.4472t))
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f(x)=-10+2.235x

f(x)=5(e^(0.44721x)+e^(-0.44721x))-4.33013(e^(0.44721x)-e^(-0.44721x))

f(x)=-5(e^(0.44721x)+e^(-0.44721x))+4.33013(e^(0.44721x)-e^(-0.44721x))
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f(x)=-5(e^(0.44721x)+e^(-0.44721x))+9.68246(e^(0.44721x)-e^(-0.44721x))

f(x)=5sin(1.48324(x-1.27772))

f(x)=-5sin(1.48324(x-1.27772))

f(x)=0
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（b）If 
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（t < 0）
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（t < 0）
[image: image73.emf]x(t)=5sin 1.414t , y(t)=7.07cos 1.414t

x(t)=-5+7.07t , y(t)=7.07

x(t)=-5sin 1.414t , y(t)=-7.07cos 1.414t

x(t)=5-7.07t , y(t)=-7.07
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